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Question Numbers : (1 to 5)
Question Label : Comprehension



Vidyasagar's contribution to the making of modern India is many sided. He evolved a new methodology of
teaching Sanskrit. He wrote a Bengali primer which is used till this day. His writings helped in the evolution of
a modern prose style in Bengali. He opened the gates of the Sanskrit college to non-brahmin students for he
was opposed to the monopoly of Sanskrit studies that the priestly caste was enjoying at the time. He was
determined to break the priestly monopoly of scriptural knowledge. To free Sanskrit studies from the harmful
effects of self-imposed isolation. he introduced the study of Western thought in the Sanskrit College. He also
helped found a college which 1s now named after him.

Above all Vidyasagar is remembered gratefully by his countrymen for his contribution to the uplift of India's
downtrodden womanhood. Here he proved a worthy successor to Rammohun Roy. He waged a long struggle
in favour of widow remarriage. His humanism was aroused to the full by the sufferings of the Hindu widows.
To improve their lot he gave his all and virtually ruined himself. In 1855, he raised his powertul voice, backed
by the weight of immense traditional learning. in favourof window remarriage. Soon a powerful movement in
tavour of widow remarriage was started which continues till this day. Later in 1855, a large number of
petitions from Bengal. Madras, Bombay. Nagpur and other cities of India were presented to the government
asking it to pass an act legalising the remarriage of widows. This agitation was successful and such a law was
enacted.

The first lawful Hindu widow remarriage among the upper castes in our country was celebrated in Calcutta on
7 December 1856 under the inspiration and supervision of Vidyasagar. Widows of many other castes in
different parts of the country already enjoyed this right under customary law.

Sub questions

Question Number : 1 Question Id : 68634019444 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

When was the first lawful Hindu widow remarriage among the upper castes in our country celebrated?

1. 7 December 1865

| )

. 17 December 1685

3. 7 December 1586

4. 7 December 1856

Options :

68634076801. 1
68634076802. 2
68634076803. 3
68634076804. 4

Question Number : 2 Question Id : 68634019445 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements:

Statement I: Vidyasagar is remembered gratefully by his countrymen for his contribution to the uplift of
India's downtrodden motherhood.

Statement II: Vidyasagar evolved a new methodology of teaching Sanskrit.
In the light of the above statements. choose the most appropriate answer from the options given below:
1. Both Statement I and Statement II are correct
2. Both Statement I and Statement II are incorrect
3. Statement I is correct but Statement IT 1s incorrect
4. Statement I is incorrect but Statement IT is correct
Options :
68634076805. 1
68634076806. 2

68634076807. 3
68634076808. 4

Question Number : 3 Question Id : 68634019446 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

One word substitution for the following phrase: The exclusive possession or control of the supply of or trade
in a commodity or service

1. Monopoly
2. Monotone
3. Analogous

4. Anarchy

Options :

68634076809. 1
68634076810. 2
68634076811. 3
68634076812. 4

Question Number : 4 Question Id : 68634019447 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Find out the meaning of the term 'agitation' from the options given below

1. campaign to arouse public concern about an 1ssue

| ]

. resentful because of unfair treatment
3. violent behaviour
4. not interesting because of lack of change or variety

Options :

68634076813. 1
68634076814. 2
68634076815. 3
68634076816. 4

Question Number : 5 Question Id : 68634019448 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Find out the opposite meaning of the term 'downtrodden’ from the options given below

1. Educated

J

. Neglected

[#F5]

. Respected

ahan

. Helpless

Options :

68634076817. 1
68634076818. 2
68634076819. 3
68634076820. 4

Question Id : 68634019443 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension



Vidyasagar's contribution to the making of modern India is many sided. He evolved a new methodology of
teaching Sanskrit. He wrote a Bengali primer which is used till this day. His writings helped in the evolution of
a modern prose style in Bengali. He opened the gates of the Sanskrit college to non-brahmin students for he
was opposed to the monopoly of Sanskrit studies that the priestly caste was enjoying at the time. He was
determined to break the priestly monopoly of scriptural knowledge. To free Sanskrit studies from the harmful
effects of self-imposed isolation. he introduced the study of Western thought in the Sanskrit College. He also
helped found a college which 1s now named after him.

Above all Vidyasagar is remembered gratefully by his countrymen for his contribution to the uplift of India's
downtrodden womanhood. Here he proved a worthy successor to Rammohun Roy. He waged a long struggle
in favour of widow remarriage. His humanism was aroused to the full by the sufferings of the Hindu widows.
To improve their lot he gave his all and virtually ruined himself. In 1855, he raised his powertul voice, backed
by the weight of immense traditional learning. in favourof window remarriage. Soon a powerful movement in
tavour of widow remarriage was started which continues till this day. Later in 1855, a large number of
petitions from Bengal. Madras, Bombay. Nagpur and other cities of India were presented to the government
asking it to pass an act legalising the remarriage of widows. This agitation was successful and such a law was
enacted.

The first lawful Hindu widow remarriage among the upper castes in our country was celebrated in Calcutta on
7 December 1856 under the inspiration and supervision of Vidyasagar. Widows of many other castes in
different parts of the country already enjoyed this right under customary law.

Sub questions

Question Number : 1 Question Id : 68634019444 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

When was the first lawful Hindu widow remarriage among the upper castes in our country celebrated?

1. 7 December 1865

| )

. 17 December 1685

3. 7 December 1586

4. 7 December 1856

Options :

68634076801. 1
68634076802. 2
68634076803. 3
68634076804. 4

Question Number : 2 Question Id : 68634019445 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements:

Statement I: Vidyasagar is remembered gratefully by his countrymen for his contribution to the uplift of
India's downtrodden motherhood.

Statement II: Vidyasagar evolved a new methodology of teaching Sanskrit.
In the light of the above statements. choose the most appropriate answer from the options given below:
1. Both Statement I and Statement II are correct
2. Both Statement I and Statement II are incorrect
3. Statement I is correct but Statement IT 1s incorrect
4. Statement I is incorrect but Statement IT is correct
Options :
68634076805. 1
68634076806. 2

68634076807. 3
68634076808. 4

Question Number : 3 Question Id : 68634019446 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

One word substitution for the following phrase: The exclusive possession or control of the supply of or trade
in a commodity or service

1. Monopoly
2. Monotone
3. Analogous

4. Anarchy

Options :

68634076809. 1
68634076810. 2
68634076811. 3
68634076812. 4

Question Number : 4 Question Id : 68634019447 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Find out the meaning of the term 'agitation' from the options given below

1. campaign to arouse public concern about an 1ssue

| ]

. resentful because of unfair treatment
3. violent behaviour
4. not interesting because of lack of change or variety

Options :

68634076813. 1
68634076814. 2
68634076815. 3
68634076816. 4

Question Number : 5 Question Id : 68634019448 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Find out the opposite meaning of the term 'downtrodden’ from the options given below

1. Educated

J

. Neglected

[#F5]

. Respected

ahan

. Helpless

Options :

68634076817. 1
68634076818. 2
68634076819. 3
68634076820. 4

Sub-Section Number : 2
Sub-Section Id : 686340642
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 6 Question Id : 68634019449 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Choose the correct pair.

1. I think you'll leave now. It's vary late.

| ]

.1 think you're leaving now. It's very late.

L]

. I think you should leave now. It's very late.
4. T think you left now. It's very late.

Options :

68634076821. 1
68634076822. 2
68634076823. 3
68634076824. 4

Question Number : 6 Question Id : 68634019449 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Choose the correct pair.

L. I think you'll leave now: It's vary late.

|

. I think you're leaving now:. It's very late.
3. I think you should leave now. It's very late.
4. I think you left now. It's very late.

Options :

68634076821. 1

68634076822. 2

68634076823. 3
68634076824. 4

Question Number : 7 Question Id : 68634019450 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Choose the correctly spelt word.

1. Obsolescent

[

. Obsolencent
3. Obsolentes
4. Obsolensent
Options :

68634076825. 1
68634076826. 2



68634076827. 3
68634076828. 4

Question Number : 7 Question Id : 68634019450 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Choose the correctly spelt word.

1. Obsolescent

| ]

. Obsolencent
3. Obsolentes
4. Obsolensent
Options :
68634076825. 1
68634076826. 2

68634076827. 3
68634076828. 4

Question Number : 8 Question Id : 68634019451 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Find out which part of the sentence has an error. if there is no error. mark option 4.

1. The animals having a narrow range

J

. of tolerance of temperatue
3. 1s restricted to specific areas only.
4. No error

Options :

68634076829. 1
68634076830. 2
68634076831. 3
68634076832. 4

Question Number : 8 Question Id : 68634019451 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Find out which part of the sentence has an error. if there is no error. mark option 4.

1. The animals having a narrow range

| ]

. of tolerance of temperatue
3. 1s restricted to specific areas only.
4. No error

Options :

68634076829. 1

68634076830. 2

68634076831. 3
68634076832. 4

Question Number : 9 Question Id : 68634019452 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Identify the correct form of indirect speech of the following sentence.

He said to me, "What are you doing".

1. He asked me what he was doing.

| B

. He asked me what I was doing.
3. He asked me what were you doing.

4. He asked about my work.

Options :

68634076833. 1
68634076834. 2
68634076835. 3
68634076836. 4

Question Number : 9 Question Id : 68634019452 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Identify the correct form of indirect speech of the following sentence.

He said to me, "What are you doing".

1. He asked me what he was doing.

J

. He asked me what I was doing.
3. He asked me what were you doing.

4. He asked about my work.



Options :

68634076833. 1
68634076834. 2
68634076835. 3
68634076836. 4

Question Number : 10 Question Id : 68634019453 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Choose the correct active voice form of the following sentence:

Better results are expected soon by the Chairman.

1. The Chairman expected better results soon.

-2

. The Chairman 1s expecting better results sooner or later.

LS ]

. The Chairman expects better results soon.
4. The Chairman never expects better results soon.

Options :

68634076837. 1
68634076838. 2
68634076839. 3
68634076840. 4

Question Number : 10 Question Id : 68634019453 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Choose the correct active voice form of the following sentence:

Better results are expected soon by the Chairman.

1. The Chairman expected better results soon.

-2

. The Chairman 1s expecting better results sooner or later.
3. The Chairman expects better results soon.
4. The Chairman never expects better results soon.

Options :

68634076837. 1
68634076838. 2
68634076839. 3
68634076840. 4

Question Number : 11 Question Id : 68634019454 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Who has been named as the Laureus Sportsman of the Year 20227

1. Christiano Ronaldo

| ]

. Roger Federar

L]

. Neeraj Chopra
4. Max Verstappen

Options :

68634076841. 1
68634076842. 2
68634076843. 3
68634076844. 4

Question Number : 11 Question Id : 68634019454 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Who has been named as the Laureus Sportsman of the Year 20227

1. Christiano Ronaldo

|

. Roger Federar

[ 5]

. Neeraj Chopra
4. Max Verstappen

Options :

68634076841. 1

68634076842. 2

68634076843. 3
68634076844. 4

Question Number : 12 Question Id : 68634019455 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
As a result of assignments signed will South Africa and Nambia 'Cheetahs' have been released to which state?
1. Assam
2. Madhya Pradesh
3. Rajasthan
4. Gujarat
Options :

68634076845. 1
68634076846. 2



68634076847. 3
68634076848. 4

Question Number : 12 Question Id : 68634019455 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

As a result of assignments signed will South Africa and Nambia 'Cheetahs' have been released to which state?

1. Assam

[ ]

. Madhya Pradesh

3. Rajasthan

N,

. Gujarat

Options :

68634076845. 1
68634076846. 2
68634076847. 3
68634076848. 4

Question Number : 13 Question Id : 68634019456 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which of the following states has the lowest unemployment rate in 2022,

1. Tharkhand

|

. Orissa
3. Haryana
4. Chhattisgarh

Options :

68634076849. 1
68634076850. 2
68634076851. 3
68634076852. 4

Question Number : 13 Question Id : 68634019456 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following states has the lowest unemployment rate in 2022.

1. Jharkhand

| ]

. Orissa
3. Haryana
4. Chhattisgarh

Options :

68634076849. 1
68634076850. 2
68634076851. 3
68634076852. 4

Question Number : 14 Question Id : 68634019457 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

If recession is to be combatted:

1. Bank rate needs to be lowered

|

. CRR needs to be lowered
3. Bank rate and CRR needs to be lowered
4. Repo rate needs to be lowered and CRR need to be raised
Options :
68634076853. 1
68634076854. 2

68634076855. 3
68634076856. 4

Question Number : 14 Question Id : 68634019457 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

If recession is to be combatted:

1. Bank rate needs to be lowered

[

. CRR needs to be lowered

3. Bank rate and CRR needs to be lowered

4. Repo rate needs to be lowered and CRR need to be raised
Options :

68634076853. 1
68634076854. 2



68634076855. 3
68634076856. 4

Question Number : 15 Question Id : 68634019458 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

National Science Day is celebrated on 28 February to mark the

1. Discovery of Raman Effect’

[ ]

. Formation of ISRO
3. Launch of First Indian Sattellite
4. First Wuclear Test' of India
Options :
68634076857. 1
68634076858. 2

68634076859. 3
68634076860. 4

Question Number : 15 Question Id : 68634019458 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

National Science Day is celebrated on 28 February to mark the

1. Discovery of Raman Effect’

J

. Formation of ISRO
3. Launch of First Indian Sattellite

4. First Wuclear Test' of India

Options :

68634076857. 1
68634076858. 2
68634076859. 3
68634076860. 4

Question Number : 16 Question Id : 68634019459 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



If in a codel language LION is written as 1291514, Then how will ALLIGATOR be written as?

1. 11212971201518

| ]

C11212791211518
3.12121791211518
4.11212961201518

Options :

68634076861. 1

68634076862. 2

68634076863. 3
68634076864. 4

Question Number : 16 Question Id : 68634019459 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

If in a codel language LION 1s written as 1291514, Then how will ALLIGATOR be written as?

1.11212971201518

| -]

C11212791211518
3.12121791211518
4,11212961201518

Options :

68634076861. 1

68634076862. 2

68634076863. 3
68634076864. 4

Question Number : 17 Question Id : 68634019460 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Choose the pair which best represents a similar relationship to the one expressed in the original pair of words -
Skipper : Team
1. Driver : Bus
2. Conductor : Orchestra

3. Air hosters : Airplane

4. Peon : Office

Options :
68634076865. 1



68634076866. 2
68634076867. 3
68634076868. 4

Question Number : 17 Question Id : 68634019460 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Choose the pair which best represents a similar relationship to the one expressed in the original pair of words -

Skipper : Team

1. Driver : Bus

[ ]

. Conductor : Orchestra
3. Air hosters : Airplane

4. Peon : Office

Options :

68634076865. 1
68634076866. 2
68634076867. 3
68634076868. 4

Question Number : 18 Question Id : 68634019461 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Sham was walking towards South. After walking for 7 km. he took a right turn. After 3 km. he again took a
right turn and continued walking for 4 km. He then took a left turn and walked 2 km. He took another left turn
and covered a distance of 9 km. How far he is from the starting point?

1.11 km

| ]

.17 km
3.13 km
4. 15 km

Options :

68634076869. 1
68634076870. 2
68634076871. 3
68634076872. 4

Question Number : 18 Question Id : 68634019461 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Sham was walking towards South. After walking for 7 km. he took a right turn. After 3 km. he again took a
right turn and continued walking for 4 km. He then took a left turn and walked 2 km. He took another left turn
and covered a distance of 9 km. How far he is from the starting point?

1.11 km

-

.17 km

3.13 km

4. 15 km

Options :

68634076869. 1
68634076870. 2
68634076871. 3
68634076872. 4

Question Number : 19 Question Id : 68634019462 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Select a suitable figure from the answer figures that can replace the question mark (?)

Problem Figures Answer Figures

] AV

(1) (2) (3) (4) A B & D

Select the suitable answer figure that would replace the question mark.

1A

b

B

&0

4.D

Options :

68634076873. 1
68634076874. 2
68634076875. 3
68634076876. 4

Question Number : 19 Question Id : 68634019462 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1



Select a suitable figure from the answer figures that can replace the question mark (?)

Problem Figures Answer Figures
(1) (2) (3) (4) A B c D
Select the suitable answer figure that would replace the question mark.
1.A
2.B
3.C
4.D

Options :

68634076873. 1
68634076874. 2
68634076875. 3
68634076876. 4

Question Number : 20 Question Id : 68634019463 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A statement is followed by two courses of action. Assume that everything written in the statement is true. On
the basis of the statement decide which course of action logically follows for perusing.

Statement :

As the booking for new car being launched by XYZ company opened. the car dealer witnesses long queues.
The customers complained of poor conditions and demanded extension of booking tune.

Course of action :

(1) The car dealer should mecrease number of desks for booking and inerease business hours to ease the heavy
rush.

(11) The car dealer should introduce online booking of cars

et

. Only (1) follows

[ B

. Only (i1) follows

[ 5]

. Neither (1) nor (i1) follows

e

. Both (1) and (11) follows



Options :

68634076877. 1
68634076878. 2
68634076879. 3
68634076880. 4

Question Number : 20 Question Id : 68634019463 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

A statement is followed by two courses of action. Assume that everything written in the statement is true. On
the basis of the statement decide which course of action logically follows for perusing.

Statement :

As the booking for new car being launched by XYZ company opened. the car dealer witnesses long queues.
The customers complained of poor conditions and demanded extension of booking time.

Course of action :

(1) The car dealer should inerease number of desks for booking and increase business hours to ease the heavy
rush.

(11) The car dealer should introduce online booking of cars

—t

. Only (1) follows

J

. Only (i1) follows

LN ]

. Neither (1) nor (11) follows

oy

. Both (1) and (11) follows

Options :

68634076877. 1
68634076878. 2
68634076879. 3
68634076880. 4

Question Number : 21 Question Id : 68634019464 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The average of 5 consecutive positive integers starting with m is n. What 1s the average of 6 consecutive
positive integers starting with (m+2) ?

1. 2n+5)/2
2:ntd
3.n+3

4. (2n+9)/2



Options :

68634076881. 1
68634076882. 2
68634076883. 3
68634076884. 4

Question Number : 21 Question Id : 68634019464 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The average of 5 consecutive positive integers starting with m is n. What 1s the average of 6 consecutive
positive integers starting with (m+2) ?

1. 20+5)/2

2.nt2

3.n+3
4. 2n+9)/2

Options :

68634076881. 1
68634076882. 2
68634076883. 3
68634076884. 4

Question Number : 22 Question Id : 68634019465 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

How many words can be formed from the letters of the word ORIENTAL so that vowels always occupy the
odd places?

1.

L]

76

4. 678

Options :

68634076885. 1
68634076886. 2
68634076887. 3
68634076888. 4

Question Number : 22 Question Id : 68634019465 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



How many words can be formed from the letters of the word ORIENTAL so that vowels always occupy the
odd places?

1. 576

4. 678

Options :

68634076885.
68634076886.
68634076887.
68634076888.

AW N =

Question Number : 23 Question Id : 68634019466 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Ayan borrowed Rs. 50,000 from Ayush on 25th April. 2022 at 12% p.a. simple interest. Ayan cleared his debt
on 18th September, 2022. How much interest is paid by Ayan?

1.22.200

Options :

68634076889. 1
68634076890. 2
68634076891. 3
68634076892. 4

Question Number : 23 Question Id : 68634019466 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Ayan borrowed Rs. 50.000 from Ayush on 25th April. 2022 at 12% p.a. simple interest. Ayan cleared his debt
on 18th September. 2022. How much interest is paid by Ayan?

1.72.200



Options :

68634076889. 1
68634076890. 2
68634076891. 3
68634076892. 4

Question Number : 24 Question Id : 68634019467 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Arrange the following numbers (A-D) in descending order.

L
B. 212
c. 3l

Choose the correct answer from the options given below:

1.D,A B. C,
22AD.B.C
3.B. DA C
4.C, B, DA

Options :

68634076893. 1

68634076894. 2

68634076895. 3
68634076896. 4

Question Number : 24 Question Id : 68634019467 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Arrange the following numbers (A-D) in descending order.

A4l
B. 212
c. 3o
D. 514

Choose the correct answer from the options given below:
1., A B.C,
22A D B.C
3.B. DA C
4.C.B.D. A

Options :

68634076893. 1
68634076894. 2
68634076895. 3
68634076896. 4

Question Number : 25 Question Id : 68634019468 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Three containers have their volumes in the ratio 3:4:5. They are full of mixture of milk and water in the ratio
4:1. 3:1 and 5:2 respectively. The mixtures from all these three containers are poured into a fourth container.
The ratio of milk and water i the fourth container is:

1.4:1
2.151:48
3.157:53
4. 5:2
Options :

68634076897. 1
68634076898. 2
68634076899. 3
68634076900. 4

Question Number : 25 Question Id : 68634019468 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Three containers have their volumes in the ratio 3:4:5. They are full of mixture of milk and water in the ratio
4:1. 3:1 and 5:2 respectively. The mixtures from all these three containers are poured into a fourth container.
The ratio of milk and water i the fourth container is:

1.4:1

| )

. 151:48

L]
[
L
~J]
L
Lad

4. 5:2

Options :

68634076897. 1
68634076898. 2
68634076899. 3
68634076900. 4

Part B: Physical Education

Section Id : 686340386
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 75
Number of Questions to be attempted : 75

Section Marks : 300
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 686340643
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 26 Question Id : 68634019469 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The Ancient Olympic Games were casted for how many days?

1. 13 days

[

. 16 days
3. 7 days
4. 5 days

Options :

68634076901. 1

68634076902. 2
68634076903. 3



68634076904. 4

Question Number : 26 Question Id : 68634019469 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
T Slatiis Wa fdad faT d Fad 42

1.13f&

.16 fe=
3.71&3
4.5fe¢q

Options :

68634076901. 1

68634076902. 2

68634076903. 3
68634076904. 4

[ )

Question Number : 27 Question Id : 68634019470 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In which year the All India Council of Sports came into existence. which acted as the liasion between the
Government and the National Federations of various games?

1. 1948

| )

. 1951
3. 1954
4. 1957

Options :

68634076905. 1
68634076906. 2
68634076907. 3
68634076908. 4

Question Number : 27 Question Id : 68634019470 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



e YR W UReg o sifda o S, ol fob TR aul fafi=1 w«il & APy Terdl & &4
e ST 87

1. 1948
2. 1051
3.1954
4, 1957
Options :
68634076905. 1
68634076906. 2

68634076907. 3
68634076908. 4

Question Number : 28 Question Id : 68634019471 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which among the following preferred gladiatorial contests over physical activities in gymnasium?

1. Americans

| B

. Greeks
3. Germans
4. Romans
Options :
68634076909. 1
68634076910. 2

68634076911. 3
68634076912. 4

Question Number : 28 Question Id : 68634019471 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ﬁﬂ?@ﬁﬂ%@ﬁwaﬁﬁw&ﬁnﬁﬁﬁﬁaﬁw raiveifga ufqaifara & adigan &t
Sl 82

1. AAREA

G
3. OfHT

| ]



Options :

68634076909. 1
68634076910. 2
68634076911. 3
68634076912. 4

Question Number : 29 Question Id : 68634019472 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
"Reality 1s determined by an individual's life experiences' The statement refers to which of the following.
1. Idealism
2. Realism
3. Naturalism
4. Pragmatism
Options :
68634076913. 1
68634076914. 2

68634076915. 3
68634076916. 4

Question Number : 29 Question Id : 68634019472 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
"G & Sila" & UG ISP aRaiaEdl B HURU SR 8 98 By FE § ¥ fFay defifd e-
1. 31Eefar
2. guTarg
3. Ugpfddig

4. odgdlq

Options :

68634076913. 1
68634076914. 2
68634076915. 3
68634076916. 4

Question Number : 30 Question Id : 68634019473 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



"Nature of beauty & art' 18 examined under which branch of philosophy?

1. Axiology

| ]

. Logic

. Aestheties

L]

4. Epistemalogy
Options :
68634076917. 1
68634076918. 2

68634076919. 3
68634076920. 4

Question Number : 30 Question Id : 68634019473 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Hied SR T @1 wefar 53 ot f5g IR & sfavia o ot 82

1. Jeg-HiigT
2. difch
3. diederd
4, JHE-HEET

Options :

68634076917. 1

68634076918. 2

68634076919. 3
68634076920. 4

Question Number : 31 Question Id : 68634019474 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Branch of philosophy concerned with examining the nature of knowledge 1s known as :
1. Meta physics
2. Epistemology
3. Logic

4. Axiology

Options :
68634076921. 1



68634076922. 2
68634076923. 3
68634076924. 4

Question Number : 31 Question Id : 68634019474 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
I B Uid B Sia- 8 Faifted 339 31 U1 &1 H8d 6-
1. HeT fopforey
3. dfdhep

| o]

e

Options :

68634076921. 1
68634076922. 2
68634076923. 3
68634076924. 4

Question Number : 32 Question Id : 68634019475 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which is not the law of learning?
1. Law of Exercise
2. Law of Effect
3. Law of Reaction

4. Law of Readiness

Options :

68634076925. 1
68634076926. 2
68634076927. 3
68634076928. 4

Question Number : 32 Question Id : 68634019475 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



I 91 Hie- &1 (4949 =51 ©-
1. 34 BT fHaH
2. UHTd &1 g8
3. ufdfsear &1 fram

4. daRal &1 fFan

Options :

68634076925. 1
68634076926. 2
68634076927. 3
68634076928. 4

Question Number : 33 Question Id : 68634019476 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

During Anxiety, experiencing physiological changes associated with high arousal. including inereased heart
rate, blood pressure, faster breathing 1s distinguished as :

1. Somatic Anxiety
2. Trait Anxiety

3. Cognitive Anxiety
4. State Anxiety

Options :

68634076929. 1
68634076930. 2
68634076931. 3
68634076932. 4

Question Number : 33 Question Id : 68634019476 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



fRIdT & R 3= Il § 99 YRR URad-T o1 3rgHa o1 forad geg 7ifd H gfg. 5= e
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Options :

68634076929. 1
68634076930. 2
68634076931. 3
68634076932. 4

Question Number : 34 Question Id : 68634019477 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

"Sociology is the study of humans social life. groups and societies. It 1s a dazzling and compelling enterprise.
having as its subject-matter our own behaviour as social beings.” The quotation refers to :

1. Giddens
2. Aristotle
3. Plato

4. Neumeyer

Options :

68634076933. 1
68634076934. 2
68634076935. 3
68634076936. 4

Question Number : 34 Question Id : 68634019477 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



YIS HHd & ST olia-, T8 d GHI BT AT § | I8 STe-d AR JHIEH 3¢H o
fSrep| fawa-aq o U & IrHIfeie Wil & 34U § GHRT W94 &1 oUaeR o - U8 3G [bad Hafid &-

1. firs=

. 3RE]
3. wiel

4, AR

Options :

68634076933. 1
68634076934. 2
68634076935. 3
68634076936. 4

| S

Question Number : 35 Question Id : 68634019478 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which of the following is an examples of non material culture?

1. Equipment

| )

. Merchandise
3. Clothmg
4. Values
Options :
68634076937. 1
68634076938. 2

68634076939. 3
68634076940. 4

Question Number : 35 Question Id : 68634019478 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
= T 9 &1 91 U9 IR Uifde Iepid &1 Jalexvl 52
1. U

2. U



Options :

68634076937. 1
68634076938. 2
68634076939. 3
68634076940. 4

Question Number : 36 Question Id : 68634019479 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

According to Tuckman & Jensen. in which stage of a group formation. the group members develop
attachments to each other and to the group.

1. Forming
2. Storming
3. Norming
4. Adjouning
Options :
68634076941. 1
68634076942. 2

68634076943. 3
68634076944. 4

Question Number : 36 Question Id : 68634019479 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

CHUA G SEH o SHTHR HHg [HI01 & 58 =01 ¥ 908 & 9a U goi U qul 94g & daddl
faafid @ed §-

1. T8 (BRI
2. YTal (TR
OGS (AR

LFS]

4, 3= (TSSIHM)

Options :

68634076941. 1
68634076942. 2
68634076943. 3
68634076944. 4

Question Number : 37 Question Id : 68634019480 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



While doing push ups abdominal muscles perform as :

1. Agonists muscle

| ]

. Antagonists muscle
3. Stabilizer

4. Neutralizer

Options :

68634076945. 1
68634076946. 2
68634076947. 3
68634076948. 4

Question Number : 37 Question Id : 68634019480 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
U130 TR T e & 1Y 59 39 8§ S o ©-
1. QIR g
2. U=emTifETe gy
L EIET
4, LTATER

Options :

68634076945. 1
68634076946. 2
68634076947. 3
68634076948. 4

L5 ]

Question Number : 38 Question Id : 68634019481 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Which of the following soft tissues connect muscle to bone?
1. Ligaments
2. Muscles
3. Cartilages
4. Tendons

Options :
68634076949. 1



68634076950. 2
68634076951. 3
68634076952. 4

Question Number : 38 Question Id : 68634019481 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
= I 9 & 91 $Hd SHad. U 3 gs1 9 Sedl o7
1. 3fygy
Tt
3. SUIey

| ]

4. HUST

Options :

68634076949. 1
68634076950. 2
68634076951. 3
68634076952. 4

Question Number : 39 Question Id : 68634019482 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

What is the Recommended Dictary Allowance (RDA) of protein for an Adult men?

1. 0.6 gm per kg body mass

| ]

. 0.9 gm per kg body mass

5]

. 0.8 gm per kg body mass
4. 2.0 gm per kg body mass

Options :

68634076953. 1
68634076954. 2
68634076955. 3
68634076956. 4

Question Number : 39 Question Id : 68634019482 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



U YBul & (oY UICHH @1 SFHRING SIER &1 O1E1 1 82
1. 0.6 919 Ufd fratl TR 4R
2. 0.0 ¥ Ufd fail TR 4R
3. 0.8 ¥ Ufd fbail TR 4R
4.2.0 9H Ufd fbeil TR 4R

Options :

68634076953. 1
68634076954. 2
68634076955. 3
68634076956. 4

Question Number : 40 Question Id : 68634019483 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which mineral 1s majorly responsible for fluid balance, acid-base balance and nerve transmission in human
body?

1. Potassinm
2. Magnesium
3. Copper

4. Chromium

Options :

68634076957. 1
68634076958. 2
68634076959. 3
68634076960. 4

Question Number : 40 Question Id : 68634019483 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ﬁmﬁ@r%ﬁwaﬁammﬁﬁmﬁmmuwwaﬂﬁﬂ TR & Q78
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O

| ]



Options :

68634076957. 1
68634076958. 2
68634076959. 3
68634076960. 4

Question Number : 41 Question Id : 68634019484 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which of the following vitamin is called as "Tocopherol'.

1. Vitamin-A
2. Vitamin-C
3. Vitamin-E
4. Vitamin-K

Options :

68634076961. 1

68634076962. 2

68634076963. 3
68634076964. 4

Question Number : 41 Question Id : 68634019484 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

B 91 et Sroiftea & =10 T o1 &1l 82
1. fgerfim- A
faefm- ¢
3. fdeifiF-E
4. faefiF-K
Options :
68634076961. 1
68634076962. 2

68634076963. 3
68634076964. 4

| ]

Question Number : 42 Question Id : 68634019485 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which macro-nuutrient intake during training session is advisable to be concentrated upon with highest
percentage in daily diet.

1. Fat

2. Protein

3. Vitamins

4. Carbohydrate

Options :

68634076965. 1
68634076966. 2
68634076967. 3
68634076968. 4

Question Number : 42 Question Id : 68634019485 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

[ §8¢ UIY® dcd DI W0 T & SR Wiafea & SMER ¥ it AEnwiiRadr 4 gu=dl & 91y o
& forn ! e e §1

1. 99
RG]
3. fqeri=

4. PIEGIESCH

Options :

68634076965. 1
68634076966. 2
68634076967. 3
68634076968. 4

| ]

Question Number : 43 Question Id : 68634019486 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Who had developed the interval training method?

1. Gosta Holmer

| ]

. Woldemar Gerschler

3.G. T. Adamson

e

. Ernst Van Aaken



Options :

68634076969. 1
68634076970. 2
68634076971. 3
68634076972. 4

Question Number : 43 Question Id : 68634019486 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
S fafe] e faofa of 4t 2
1. TTRET §IeR

2. diegHx YR

3. ol ¢1. TsaaH
4. 3% g1 HPH

Options :

68634076969. 1
68634076970. 2
68634076971. 3
68634076972. 4

Question Number : 44 Question Id : 68634019487 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

What is the main aim of Isolation exercises?

1. To ensure hypertrophy

| )

. Strengthen the strongest muscles
3. Addressing Individual strengths
4. Addressing Individual Weakness

Options :

68634076973. 1
68634076974. 2
68634076975. 3
68634076976. 4

Question Number : 44 Question Id : 68634019487 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634076973. 1
68634076974. 2
68634076975. 3
68634076976. 4

Question Number : 45 Question Id : 68634019488 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In which year the National Anti Doping Agency was established by government of India?

1. 1969

[

. 2004
3. 1960

4. 1980

Options :

68634076977. 1
68634076978. 2
68634076979. 3
68634076980. 4

Question Number : 45 Question Id : 68634019488 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

forg Y HRT TRPR 7 AP Tl S Coidt (1s1) BT 767 fbam

1. 1999

| o]

. 2004
3. 1960

4. 1980

Options :
68634076977. 1



68634076978. 2
68634076979. 3
68634076980. 4

Question Number : 46 Question Id : 68634019489 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which of the following is the property of plane?

1. One Dimensional

| ]

. Two Dimensional
3. Three Dimensional

4. Four Dimensional

Options :

68634076981. 1
68634076982. 2
68634076983. 3
68634076984. 4

Question Number : 46 Question Id : 68634019489 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

=1 T ¥ &1 91 Has (W) S0 7
1. U& AT

I ST

3. T STt

4. IR SATHI

| ]

Options :

68634076981. 1
68634076982. 2
68634076983. 3
68634076984. 4

Question Number : 47 Question Id : 68634019490 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Tumping Jacks, is the combination of which of the following movements?

1. Extension and Adduction

| ]

. Abduection and Adduction
3. Abduction and flexion

4. Flexion and Extension

Options :

68634076985. 1
68634076986. 2
68634076987. 3
68634076988. 4

Question Number : 47 Question Id : 68634019490 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

11 ¥ 9 o1 91, SfER o o il o 9y g2

1. Uag< Y- d UsaeH

2. Ussa¥H d USaNH

3. Uss9Y- d YelaR]-

. TRIGYF @ T 99

Options :

68634076985. 1
68634076986. 2
68634076987. 3
68634076988. 4

FEs

Question Number : 48 Question Id : 68634019491 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Newton's first law of motion is also known as -
1. Law of Inertia
2. Law of Momentum

3. Law of Acceleration

4, Law of Reaction

Options :
68634076989. 1
68634076990. 2



68634076991. 3
68634076992. 4

Question Number : 48 Question Id : 68634019491 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

=& B 11d &1 9yH 78 59 71 9 1 91 95 8-
1. Sigcd @l f-aH

a1 e

3. @0 T HOH

4. faforan &1 |

Options :

68634076989. 1
68634076990. 2
68634076991. 3
68634076992. 4

| S

Question Number : 49 Question Id : 68634019492 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange the following protocols in sequential order to administer first aid in case of any sports injury.

A Rest

B. Protection
C.Ice

D. Elevation

E. Compression

Choose the correct answer from the options given below :

1. AAE.C.B,.D

-

.B.E.D.C.A
3JACE.D.B
4.B.A.C.E.D

Options :

68634076993 1
68634076994. 2
68634076995. 3
68634076996. 4

Question Number : 49 Question Id : 68634019492 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

fep i Wa-=ic & @i W FAEfeiad wufte SU=R & ydyH-RIFER &1 hHaR ogafiyd $ifst-

A, HIRIH (Rest)

B. YX& T (Protection)
C. §9% TMT (Ice)

D. 3o (Elevation)
E. &dld (Compression)

it fgu 70 foe el o I I SR &1 I1d DIC:

1.LAECBD

| )

B,E.DC A
3JJALCE.D.B
4.B.A.C.E.D

Options :

68634076993. 1
68634076994. 2
68634076995. 3
68634076996. 4

Question Number : 50 Question Id : 68634019493 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Among the following methods of problem solving in research, which is referred as unscientific and least
reliable source of knowledge as research cling to certain beliefs regardless of a lack of supportive evidence.

1. Reference

2. Tenacity

3. Rationalistic

4. Empirical
Options :
68634076997. 1
68634076998. 2

68634076999. 3
68634077000. 4

Question Number : 50 Question Id : 68634019493 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



SEUT O U GH1eT &) FEfaiad Gl § 9 ueb, S8 SHuUE & 39 O [ 61 U HaglH® SR
W@?&W@H%Wﬂﬂqmﬂ%ut Sl 6. HgTd® HIgd @1 HHl §1H & slagg $o Jrarsi 4
ST gldl &-

1. Faf (Reference)

. 2@l (Tenacity)
. ddare (Rationalistic)

RS (Empirical)

| S

LS ]

.

Options :

68634076997. 1
68634076998. 2
68634076999. 3
68634077000. 4

Question Number : 51 Question Id : 68634019494 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

According to APA style. people who are sued in research studies for experiments and surveys are referred as

1. Subjects
2. People
3. Participants

4. Volunteers

Options :

68634077001. 1
68634077002. 2
68634077003. 3
68634077004. 4

Question Number : 51 Question Id : 68634019494 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Ul U WIEd & 3FER - S8 Sl 8 ydi 3R Gdaoi & forg wgad an & HEl A gl
1. geslacy
AT
A
4, WOYdD
Options :
68634077001. 1
68634077002. 2

68634077003. 3
68634077004. 4

| ]

LS ]

Question Number : 52 Question Id : 68634019495 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following research techniques generally seeks to gather performance of knowledge data on a
large sample from a population and present results in the form of comparative standards :

1. Interview

2. Normative Survey
3. Questionnaire

4. Review

Options :

68634077005. 1
68634077006. 2
68634077007. 3
68634077008. 4

Question Number : 52 Question Id : 68634019495 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

P 7 9 1 ¥ R T, SMaTel & U 89 T & WakiH U 99 & Sfias! Bl Sl § 3R
qoHIHD HIHD! & 39 H URUTH Ud Bl 6

1. &P R
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Options :

68634077005. 1
68634077006. 2
68634077007. 3
68634077008. 4

Question Number : 53 Question Id : 68634019496 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which of the following test item is not mvolved in Johnson Basket Ball skill test?

1. Throw for Accuracy

| )

. Jump and Reach

L]

. Lay-up shot
4. Dodging Run
Options :
68634077009. 1
68634077010. 2

68634077011. 3
68634077012. 4

Question Number : 53 Question Id : 68634019496 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
= Tieu Hal | ¥ ®1F U S0 ae aid HIIa-IRI&0 He § Wi T8l 52
1. FETEar & BT (U BR T
2. S0 UUs ¥

3. @-3U e
4. ST A

Options :

68634077009. 1
68634077010. 2
68634077011. 3
68634077012. 4

Question Number : 54 Question Id : 68634019497 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following 18 NOT a type of Reliability?

1. Equivalence

| ]

. Split half

L]

. Interclass
4. Content
Options :
68634077013. 1
68634077014. 2

68634077015. 3
68634077016. 4

Question Number : 54 Question Id : 68634019497 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
e 5 3 319 91 favae-aar &1 veR 8l 39
1. S
2. 3¢y
3. Jicdeig

e

Options :

68634077013. 1
68634077014. 2
68634077015. 3
68634077016. 4

Question Number : 55 Question Id : 68634019498 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The process of evaluating the degree to which a test measures the factors for which it was designed 1s defined
as :

1. Vahdity

[ ]

Reliability

L¥ ]

. Objectivity

s

. Subjectivity

Options :



68634077017. 1
68634077018. 2
68634077019. 3
68634077020. 4

Question Number : 55 Question Id : 68634019498 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

39 TS0 &1 i S &1 Wieh T forhd 70 Tieful 39 SRe| &1 719 § o o 59 fSomgH faan
a1 o1, forg »u B ol fear mar &

1. dear

R GEGEEIRI]
AT

4. AlGIqRBdl

| ]
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Options :

68634077017. 1
68634077018. 2
68634077019. 3
68634077020. 4

Question Number : 56 Question Id : 68634019499 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The school intramural program, effectively serves as an outstanding ground for

1. Student Recreation
2. Skill Development
3. Basic Instructional work
4. Testing Skill proficiency

Options :

68634077021. 1

68634077022. 2

68634077023. 3
68634077024. 4

Question Number : 56 Question Id : 68634019499 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



QA T AURERSRGH, & U yyIarel S$eR & 39 5 1 &xdl o
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Options :

68634077021. 1
68634077022. 2
68634077023. 3
68634077024. 4

Question Number : 57 Question Id : 68634019500 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

How many rounds will be played if 6 teams are participating in a league tournament?

i

L]

b2
[

4.9

Options :

68634077025. 1
68634077026. 2
68634077027. 3
68634077028. 4

Question Number : 57 Question Id : 68634019500 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gl U ol gAlHe H 6 CIH HAT T X5l 8. A SS9 DI ol W =l gl

1.

Lh

b
S

4.9

Options :
68634077025. 1



68634077026. 2
68634077027. 3
68634077028. 4

Question Number : 58 Question Id : 68634019501 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Which of the following is the objective of extramural competitions.
1. Improves physical efficiency of all students
2. Provides outlet to instinctive tendencies of aggressiveness and fear
3. To reach the highest level of performance, in the higher level of competition
4. To act as an instrument of talent selection and grooming
Options :
68634077029. 1
68634077030. 2

68634077031. 3
68634077032. 4

Question Number : 58 Question Id : 68634019501 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
= & 9 19 1 918 YR uiaaiiar &1 358g 82
1. it foenidfal &t IR amrar & gUR
2. JTPTASGAI 3R T T TapTd UGl &l ST3eae UaH Hal 5|
3. T TR B Wadifar & YeRH $1 I=Id9 ¥R do Ggal

A4, YiaHT 99 9 HaR- & SUDH & 59 § H1d HAT

Options :

68634077029. 1
68634077030. 2
68634077031. 3
68634077032. 4

Question Number : 59 Question Id : 68634019502 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which international athlete was conferred with India's highest sporting honor. "The Major Dhyan Chand Khel

Ratna Award" in 20227

1. Neeraj Chopra

2. Ravi Kumar Dahiya
3. Lakshay Sen

4. Sharath Kamal

Options :

68634077033. 1
68634077034. 2
68634077035. 3
68634077036. 4

Question Number : 59 Question Id : 68634019502 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gy 2022 H 9 SiRIPIY RATS] &1 YRd H S=ad Wdl 99 ToR A4g 9a el TS’ §RI G-
fepar T 2

1. e 9gsT

[t

2. JfapaR gfgam

3. @I

4. MY HHA

Options :

68634077033. 1
68634077034. 2
68634077035. 3
68634077036. 4

Question Number : 60 Question Id : 68634019503 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The 2026 Asian Games. also known as the "XX Asiad' will be hosted by which city/cities?

1. Aichi & Nagoya

| ]

. Doha

3. Riyadh

s

. Jakarta - Palembang



Options :

68634077037. 1
68634077038. 2
68634077039. 3
68634077040. 4

Question Number : 60 Question Id : 68634019503 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
2026 TR 9. o, xx tRurs & 51 oirar &, & SoaE! 69 weveg’ gRI & o

1. TR 3R A
2. 38T
3. Ty
4. STHTI-OTeET

Options :

68634077037 1

68634077038. 2

68634077039. 3
68634077040. 4

Question Number : 61 Question Id : 68634019504 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In an uninterrupted match of 50 overs the first 10 overs of an inning will be a mandatory power play. During
this power play ficlders are allowed outside the 30 yard circle.

1.4

4.6

Options :

68634077041. 1
68634077042. 2
68634077043. 3
68634077044. 4

Question Number : 61 Question Id : 68634019504 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



50 3aRl & SEd 9o |, 3H7T S Ugd 10 3iiar § gra-w 3ifHard 39 9 8171 59 9IaR-© & gRH
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[
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4.6

Options :

68634077041. 1
68634077042. 2
68634077043. 3
68634077044. 4

Question Number : 62 Question Id : 68634019505 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

An Antenna of fibre glass or similar material 1s fastened at outer edge of each side band of net in Volley Ball.
It should have

1. A length of 2.0 mtrs and diameter of 10 nun

| ]

. A length of 1.5 mtrs and diameter of § mm
3. Alength of 1.20 mtrs and diameter of 12 mm
4. A length of 1.80 mtrs and diameter of 10 mm

Options :

68634077045. 1
68634077046. 2
68634077047. 3
68634077048. 4

Question Number : 62 Question Id : 68634019505 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634077045. 1
68634077046. 2
68634077047. 3
68634077048. 4

Question Number : 63 Question Id : 68634019506 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In which state the first National Sports University was established?

1. Madhya Pradesh

[

. Gujarat
3. Manipur
4. Delhi
Options :
68634077049. 1
68634077050. 2

68634077051. 3
68634077052. 4

Question Number : 63 Question Id : 68634019506 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TYH P G faRafderer ot R SF 9 790 1§52
1. AW

3. HigR
1. faeett

Options :



68634077049. 1
68634077050. 2
68634077051. 3
68634077052. 4

Question Number : 64 Question Id : 68634019507 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

SNIPES merged with sports authority of India in -

1.1984

| ]

. 1986
3. 1987

4, 1988

Options :

68634077053. 1
68634077054. 2
68634077055. 3
68634077056. 4

Question Number : 64 Question Id : 68634019507 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

YR W WIS o § U9.04. 3115, 41 5.0, (SNIPES) & faag ay o ga|

1.1984

| )

. 1986
3. 1987
4. 1988

Options :

68634077053. 1
68634077054 2
68634077055. 3
68634077056. 4

Question Number : 65 Question Id : 68634019508 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



How many executive council members are elected in the Indian Olympic Association?

1. 10

b
[ a]

Options :

68634077057. 1
68634077058. 2
68634077059. 3
68634077060. 4

Question Number : 65 Question Id : 68634019508 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

YR i J4 &t el ukyg H foa wew faffd fey o 82

1.10

| ]
2]

3.6
4.4

Options :

68634077057. 1
68634077058. 2
68634077059. 3
68634077060. 4

Question Number : 66 Question Id : 68634019509 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements : One is labelled as Assertion A and the other is labelled as Reason R
Assertion A : Athens differed sharply from Sparta. Athenions focused towards all-round development of boys
while Spartan focused on military conquests.

Reasons R : In Athens. boys attended palaestra to train in wrestling, boxing. jumping and attended music
school to learn arthmaties, literature and music. Wherever sparten boys & girls focused on physical prowess
will very less regard to intellectual development

In the light of the above statements. choose the most appropriate answer from the options given below.

1. Both A and R are correct and R is the correct explanation of A
2. Both A and R are correct but R is not the correct explanation of A
3. A is correct but R is not correct

4. A is not correct but R is correct

Options :

68634077061. 1
68634077062. 2
68634077063. 3
68634077064. 4

Question Number : 66 Question Id : 68634019509 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
68634077061. 1

68634077062. 2
68634077063. 3



68634077064. 4

Question Number : 67 Question Id : 68634019510 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements : One is labelled as Assertion A and the other i1s labelled as Reason R

Assertion A : Nearly every element of sport has sociological significance.

Reasons R : Sports participation provides health benefits, historical continuity. gain insight on racism. sexism.
labour, struggles. inequality.

In the light of the above statements, choose the most appropriate answer from the options given below.

1. Both A and R are correct and R 1s the correct explanation of A

2

. Both A and R are correct but R is not the correct explanation of A
3. A is correct but R is not correct

4. A is not correct but R is correct

Options :

68634077065. 1
68634077066. 2
68634077067. 3
68634077068. 4

Question Number : 67 Question Id : 68634019510 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
68634077065. 1



68634077066. 2
68634077067. 3
68634077068. 4

Question Number : 68 Question Id : 68634019511 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Given below are two statements : One 1s labelled as Assertion A and the other i1s labelled as Reason R
Assertion A : Fat 13 an essential nutrient and an important energy source.

Reasons R : Humans need some fat in their diet because fats are carriers of vitamins A. D. E and K.

In the light of the above statements, choose the most appropriate answer from the options given below.

1. Both A and R are true and R 1s the correct explanation of A
2. Both A and R are true but R is not the correct explanation of A
3. A is true but R 1s not false
4. A 1s not false but R 1s true

Options :

68634077069. 1

68634077070. 2

68634077071. 3
68634077072. 4

Question Number : 68 Question Id : 68634019511 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

I gl 2 [T T §: Ugdl SITHUSY '3 § g3 SR 'S’ & =Y 4 g |

STUSYT 30" : a9 U YW U dcd @ Headqul Sl Hid g
BRON D' : AT P AT IS H P& T ST SMARTHI Bl § 1 a1 fGeT@T A, D. E JUTK Bl
%2@%@ﬁﬁ.ﬁﬁnwﬁﬂ@ﬁmﬁwaﬁm:
1.'37" 3R '@ A1 Ul & aUl T, 3" B gl ARAT G |
130 3R @ G Ul § U '@, '8 ' B Hol AR ol 6|

3.9 Bl & Y P T o

| B}

4. 31" 07 & U " el 5l

Options :
68634077069. 1
68634077070. 2



68634077071. 3
68634077072. 4

Question Number : 69 Question Id : 68634019512 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements : One is labelled as Assertion A and the other is labelled as Reason R

Assertion A : Combining aerobic endurance with strength training during the competition phase may seriously
compromise the development of maximal strength and power.

Reasons R : The claim is that strength training is incompatible with long-distance aerobic training because
tast-twitch fibers may adapt to behave like slow-twitch fibers

In the light of the above statements. choose the most appropriate answer from the options given below.
1. Both A and R are correct and R is the correct explanation of A
2. Both A and R are correct but R 18 not the correct explanation of A
3. A 1s correct but R is not correct

4. A 1s not correct but R is correct

Options :

68634077073. 1
68634077074. 2
68634077075. 3
68634077076. 4

Question Number : 69 Question Id : 68634019512 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

=2 & Ty fou T & vee JfHE YT 191 T GEI BRI 'F FEIH
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SWRIad PUl & Hay §, A1 f4u ¢ fdsedl U Tgt ST &1 910 SIT:

13" 3R " SHI FE1 S aYl P, 137 B Gl WA |
3 3R ' S Fel © IRg '@, '3 Pl HE R 7o o
3.9 el & IR P T 6

| S

4,730 TS § g '@ 951 6 |

Options :
68634077073. 1
68634077074. 2



68634077075. 3
68634077076. 4

Question Number : 70 Question Id : 68634019513 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements ;: One is labelled as Assertion A and the other is labelled as Reason R

Assertion A : The objectivity of test means that a test when applied by different testers should give almost
same results.

Reasons R : During testing when multiple testers are engaged. its essential to train the testers on similar
testing protocols before the test begins.

In the light of the above statements. choose the most appropriate answer from the options given below.

1. Both A and R are correct and R is the correct explanation of A

-J

. Both A and R are correct but R is not the correct explanation of A
3. A 1s correct but R is not correct

4. A 1s not correct but R is correct

Options :

68634077077. 1
68634077078. 2
68634077079. 3
68634077080. 4

Question Number : 70 Question Id : 68634019513 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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4. '3 7TAd § U P Fel ol

Options :
68634077077. 1
68634077078. 2



68634077079. 3
68634077080. 4

Question Number : 71 Question Id : 68634019514 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements : One is labelled as Assertion A and the other is labelled as Reason R

Assertion A : Planning involves setting a course of action for the sports organization.

Reasons R : The sports manager must be ready to adjust or change the organizational plans to make them
more appropriate.

In the light of the above statements, choose the correct answer from the options given below.

1. Both A and R are true and R 1s the correct explanation of A

J

. Both A and R are true but R is not the correct explanation of A
3. A is true but R is not false

4. A is false but R is true

Options :

68634077081. 1
68634077082. 2
68634077083. 3
68634077084. 4

Question Number : 71 Question Id : 68634019514 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634077081. 1
68634077082. 2
68634077083. 3
68634077084. 4



Question Number : 72 Question Id : 68634019515 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements : One is labelled as Assertion A and the other is labelled as Reason R

Assertion A : The Common Wealth Games are the only games which share a common language which has led
the CWG being known as 'Friendly Games'.

Reasons R : The objective behind the establishment of the CWG included mamtaining the bonds between the
states & territories of the British Empire.

In the light of the above statements. choose the mosr appropriate answer from the options given below.

1. Both A and R are correct and R is the correct explanation of A

| B

. Both A and R are correct but R is not the correct explanation of A
3. A is correct but R is not correct

4. A 1s not correct but R is correct

Options :

68634077085. 1
68634077086. 2
68634077087. 3
68634077088. 4

Question Number : 72 Question Id : 68634019515 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634077085. 1
68634077086. 2
68634077087. 3
68634077088. 4



Question Number : 73 Question Id : 68634019516 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange the following events in chronological order. which were added in Ancient Olympic Games.

A. Boxing

B. Pancration

C. Stade Race

D. Race in Armar
E. Chariot Race

Choose the correct answer from the options given below :

1. C,A.B.D.E

| ]

B ASH T
JCCD.B.AE
4. C.B.E.D.A

Options :

68634077089. 1
68634077090. 2
68634077091. 3
68634077092. 4

Question Number : 73 Question Id : 68634019516 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U Gt | FHefaiad afaaifiarsi o i @31 @ 9gd §U HH H oIdi&yd Bife:

A. SifqT
B. U=<h¥H
C. XSS
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1.C.A B BE

[ )

SE. BLACE.D
3.C.D.B.A.E
4. C.,B.E.D.A
Options :

68634077089. 1
68634077090. 2



68634077091. 3
68634077092. 4

Question Number : 74 Question Id : 68634019517 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

With special reference to O.C.E.AN. (Traits of Big 5 Theory) arrange the behavior for low score in a
sequential order.

A. Reserve. Cautious

B. Not very imaginative. Dislike change
C. Irritable. Rude

D. Disorganized, Careless

E. Calm, Secure

Choose the correct answer from the options given below :

1. DB, CAE
2B D ACE
3B C DB A
4. A E C.B,D

Options :

68634077093. 1

68634077094. 2

68634077095. 3
68634077096. 4

Question Number : 74 Question Id : 68634019517 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



S 2. U . (9w 5 AR &1 [92vard) 9 Seiia. SaeR & JAad 8id (SPR) S PHIER daied
I ” 1:

A. Iddb, 3194 39 H Ig4 ara

B. AHed-Teiid, GRad-i &l ATqde H- ardl
c. fusfst, s

D. HIfSd. ATURAE

E. QIid. Rl
=i f4U U fasedl § ¥ el 3R &1 9094 Bifoie:

1.D.B,C.AE

2B. DA CE
3.3BE.C DB A
4. A E.C.B.D

Options :

68634077093. 1
68634077094. 2
68634077095. 3
68634077096. 4

Question Number : 75 Question Id : 68634019518 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

From the following arrange the sequence of blood flow in heart according to human circulatory system.

A. Pulmonary Arteries
B. Superior Vena Cava
C. Pulmonary Valve
D. Right Ventricle

E. Right Atrium

Choose the correct answer from the options given below :

1L.ADEBC
2AEDCB
3.B.E.D.C.A
4.B.D.EAC

Options :

68634077097. 1

68634077098. 2

68634077099. 3
68634077100. 4



Question Number : 75 Question Id : 68634019518 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HT-d & IGqINER SR & HTAR, 9 P g0 1 I9d-HaTe & HHTER di&d o

A GAHART 451

B. guRaz gl
C. aH < dled
D. gl (Had

E. gl iferg

i f4u U fasedl O ¥ Tl 3w &1 904 B

1.L.ADERBC

[ )

AEDC. B
3.B.E.D.C.A
4.B.D.E.A.C

Options :

68634077097. 1
68634077098. 2
68634077099. 3
68634077100. 4

Question Number : 76 Question Id : 68634019519 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange the following phases of annual training plan for a foot ball team. in a sequential order.

A, Pre-competitive phase
B. General Preparation
C. Competitive phase

D. Specific Preparation
E. Transitional phase

Choose the correct answer from the options given below :

1.AC.B. D, E

-

.B.D,A, C.E
3 B.D,E.AC
4. A C.E.B.D
Options :

68634077101. 1
68634077102. 2



68634077103. 3
68634077104. 4

Question Number : 76 Question Id : 68634019519 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Geald ¢l & fau g1 115 FEfaRad artie UiRigun =Rur (o) dieHT &1 pHIIR oaid S

A Widaiar S qd
B. WH
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1. ACBDE

22B. DA CE
3.B.D.E.A.C
4 A C.E.B.D

Options :

68634077101. 1
68634077102. 2
68634077103. 3
68634077104. 4

Question Number : 77 Question Id : 68634019520 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

According to the number of matches to be played in various types of tournaments arrange the following
statements in a descending order.

. 12 teams are participating in a knock out tournament

. 21 teams are participating i a knock out tournament

. 8 teams are participating in a league cum knock out tournament
. 7 teams are participating in a Round Robin tournament

. 8 teams are participating in a league tournament

Mg

Choose the correct answer from the options given below :

1G: B 1 BoA

J

B, C.A D E

3. DB CA E

4. C,A,D.E. B



Options :

68634077105. 1
68634077106. 2
68634077107. 3
68634077108. 4

Question Number : 77 Question Id : 68634019520 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

[T yeR &1 Biaiiais & T o ard Jd] ®1 98 & SER FEgd @UEl © 9ed g eH |
Sgafyd BifoT:
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=i f4U U fasedl § ¥ el 3R &1 9094 Bifoie:

10, BB, A

2.B.C.A.D.E
3.D.B.C.AE
4.C.A.D.E.B

Options :

68634077105. 1
68634077106. 2
68634077107. 3
68634077108. 4

Question Number : 78 Question Id : 68634019521 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



According to the organizational year of the following Common Wealth Games. arrange them in an ascending
order.

A. Brisbane. Austraila

B. Edinburge. Scotland

C. Christchurch. New Zealand
D. Kingston. Jamaica

E. Kualalaumpur. Malasyia

Choose the correct answer from the option given below :

1.C; InE A B

| B

BAEDC
oA B R D
4.D.C.A.B.E

Options :

68634077109. 1
68634077110. 2
68634077111. 3
68634077112. 4

Question Number : 78 Question Id : 68634019521 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
4 AU Siode Gal &1 390 STaieH aul & STaR 9gd gU o4 1 SIafeyd Bifeig:

A Tore, smecfemn
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=i f4U U fasedl O O el 3R &1 994 Bifoie:

10 B B B

J

B.AE.D,C
3.A. B, B, D
4.D.C.A.B.E

Options :

68634077109. 1
68634077110. 2
68634077111. 3
68634077112. 4



Question Number : 79 Question Id : 68634019522 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Arrange the following institutes in ascending order as per their year of establishment.

A. National Sports University, Imphal

B. Sports Authority of India

C. Netaji Subhash National Institute of Sports, Patiala

D. Indian Olympic Association

E. Laxmibai National Institute of Physical Education, Gwalior

Choose the correct answer from the options given below :

1.D.E,C.B.A

-a

E.D,B.C.A
3DCE A B
4.E.C.B.A.D

Options :

68634077113. 1
68634077114. 2
68634077115. 3
68634077116. 4

Question Number : 79 Question Id : 68634019522 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
FEfeRed Tersil &1 G- -1 & ay & IR 9¢d §U HH H Salyd BIfug:

A TP W fayfaenaa, gemra
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=i f4U U fasedl O O el 3R &1 994 Bifoie:

1. D, E.C.B.A

[ B

E.D,B.C.A
3.D.EBABC
4.E.C,B,A,D

Options :

68634077113. 1
68634077114. 2



68634077115. 3
68634077116. 4

Question Number : 80 Question Id : 68634019523 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two Statement :

Statement I : Complex carbohydrates should be the principle source of calories in the diet.

Statement IT : Carbohydrates have been unfairly implicated as a cause of obesity as in recent years there is
hype associated with low carbohydrate diets.

In the light of the above statements. choose the most appropriate answer from the options given below :

1. Both Statement I and Statement II are correct

J

. Both Statement I and Statement IT are incorrect
3. Statement I is correct but Statement IT is incorrect

4. Statement I is incorrect but Statement IT is correct

Options :

68634077117. 1
68634077118. 2
68634077119. 3
68634077120. 4

Question Number : 80 Question Id : 68634019523 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634077117. 1
68634077118. 2
68634077119. 3
68634077120. 4



Question Number : 81 Question Id : 68634019524 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two Statement :

Statement I : In Sports training. planning is the process of arranging a training program into long and short
phases 1n order to achieve traming goals.

Statement IT : In Sports training. periodization refers to the structure of the annual plan and consists of
training methods and training means.

In the light of the above statements. choose the correct answer from the options given below :

1. Both Statement I and Statement IT are true

| B

. Both Statement I and Statement IT are false
3. Statement I is true but Statement IT 1s false

4. Statement I is false but Statement IT is true

Options :

68634077121. 1
68634077122. 2
68634077123. 3
68634077124. 4

Question Number : 81 Question Id : 68634019524 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634077121. 1
68634077122. 2
68634077123. 3
68634077124. 4



Question Number : 82 Question Id : 68634019525 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Given below are two Statement :
Statement I : Speed 1s a vector quantity
Statement IT : Velocity is a scalar quantity
In the light of the above statements. choose the correct answer from the options given below :
1. Both Statement I and Statement II are true
2. Both Statement I and Statement II are false
3. Statement I is true but Statement ITI is false
4. Statement I is false but Statement II is true
Options :
68634077125. 1
68634077126. 2

68634077127. 3
68634077128. 4

Question Number : 82 Question Id : 68634019525 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

EIE R AT ATk oA
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Options :

68634077125. 1
68634077126. 2
68634077127. 3
68634077128. 4

Question Number : 83 Question Id : 68634019526 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two Statement :

Statement I : To achieve maximum horizontal range. shot-put tend to have smaller projection angles than high
jump.

Statement IT : To achieve maximum horizontal range. projection speed 1s directed vertically.

In the light of the above statements. choose the correct answer from the options given below :

1. Both Statement I and Statement IT are true

| o

. Both Statement I and Statement IT are false
3. Statement I is true but Statement I is false

4. Statement I is false but Statement IT is true

Options :

68634077129. 1
68634077130. 2
68634077131. 3
68634077132. 4

Question Number : 83 Question Id : 68634019526 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

EIEAEAIE R 1

HYTL: Sl T i UL Ye-Je J AW B0 HH 5H IR I8 e &fas gt urd axar g
FYF 11: fTHar Afas T &1 U 3= & g v nfa & dead e g g smar g1
SQRIE DY B TR A 14U U [l O § gad Iugad SR &1 IH1d HITI:

1. YT 1T HYF 1L S el §

2. BYTITFYT I SHI Tad g

L]

HYT [ el & dUT PYUT 11 TTad g |

 PYTITTAd & dUT HYF 11 Fal ol

.

Options :

68634077129. 1
68634077130. 2
68634077131. 3
68634077132. 4

Question Number : 84 Question Id : 68634019527 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two Statement ;

Statement I : A positive correlation exists between two variables when a small value of one variable is
associated with a small value of another variable.

Statement IT : A negative correlation exists between two variables, when a large value of one variable is
associated with a large value of another variable.

In the light of the above statements. choose the correct answer from the options given below :
1. Both Statement I and Statement IT are true
2. Both Statement I and Statement IT are false
3. Statement I is frue but Statement II is false

4. Statement I is false but Statement IT is true

Options :

68634077133. 1
68634077134. 2
68634077135. 3
68634077136. 4

Question Number : 84 Question Id : 68634019527 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

2 a1 By fau Y §- _

Y L: 3 R P o9 T G5-HGY ORI TGS 81 6. 5d [P TR B A TH R R P ag I
Hafd g gl

YA L &1 R D d19 H THRIAD Tgdae HI9E o/d] 5. oid Uh @R &I ged HH GO R & §od-0- 4
REIRREERIN

SUWRIEd HY & 3UR -4 fGu U fasedl § 9 9e8 Jugad TR &I J-1d BT

1. YT 1T HYF 1L S el §

2. FYT 19 HYT I SHT T B

3. BYTI TSI g qUT PYT 1 T & |

4, BYTITTAd & dUT HYF 11 Fal ol

Options :

68634077133. 1
68634077134. 2
68634077135. 3
68634077136. 4

Question Number : 85 Question Id : 68634019528 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two Statement ;

Statement I : The head of state of the host country gives the declaration of the opening of the Olympic
Games.

Statement IT : The IOC president gives the declaration of the closing of the Olympic Games.
In the light of the above statements. choose the most appropriate answer from the options given below :

1. Both Statement I and Statement IT are correct

| )

. Both Statement I and Statement IT are incorrect
3. Statement I is correct but Statement I1 is incorrect

4. Statement I is incorrect but Statement IT is correct

Options :

68634077137. 1
68634077138. 2
68634077139. 3
68634077140. 4

Question Number : 85 Question Id : 68634019528 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

EIEAEAIC R

HYF I: HOlgH S8 D 50 BT WG s Tdl & Fgare i Hul Sl g
FY I1: TS, 3. I, BT Heme afs Wal & AT S 919 S g
SRI DY B IR A 4 U [l O § gad Iugad SR &1 H1d HITIT:

1. YT 1T HYF 1L S el §

2. BYTITFYT I SHI Tad g

3. Y198l & dUT YT I TTad ol

4, BYTITTAd & dUT HYF 11 Fal ol

Options :

68634077137. 1
68634077138. 2
68634077139. 3
68634077140. 4

Question Number : 86 Question Id : 68634019529 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two Statement :

Statement I : The height of the hurdle in 400 m hurdle race for men is 0.838 m

Statement IT : The height of the hurdle in 110 m hurdle race for women is 0.762 m

In the light of the above statements. choose the most appropriate answer from the options given below :
1. Both Statement I and Statement IT are correct
2. Both Statement I and Statement II are incorrect
3. Statement I is correct but Statement II is incorrect

4. Statement I is incorrect but Statement IT is correct

Options :

68634077141. 1
68634077142. 2
68634077143. 3
68634077144. 4

Question Number : 86 Question Id : 68634019529 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

R FyE R E-

HYT 1 TO01 B 400 1. G50 al5 ¥ 500 @I HdTs 0.838 11 Sl B

HYA 11 Afearsii @t 110 T sSa S H gd Bt HIE 0.762 1. Bt B
SWRIE DY P YR A 14 ¢ [l ¥ § gad Iugad SRk &1 IH1d ST

1. YT 1T HYF 1L S el §

2. BYTITFYT I SHI Tad g
3. @Y1 9el & dUT YT I TTad o

4, BYT17TAd & dUT HYF 11 Jal ol

Options :

68634077141. 1
68634077142. 2
68634077143. 3
68634077144. 4

Question Number : 87 Question Id : 68634019530 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following are the events of Ancient Olympic Games.

A, Stade Race
B. Horse Chariot Race
C. Decathlon
D. Pentathlon
E. Swimming

Choose the correct answer from the options give below :

1. A.B. D only

[

.A . B.Eonly
3.A.D.E only
4. A. C.E only
Options :
68634077145. 1
68634077146. 2

68634077147.3
68634077148. 4

Question Number : 87 Question Id : 68634019530 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Mefafad 8 9 oF 9t = siafis o ufagid -

A WSS
B. UISIRY EIS
C. SHIYdT
D. U=e1ya-
E. 1!
=i f4u U fasedl § U ol 3R &1 994 B
1. Hdd A, B.D
. HAdA.B.E
3. PdAA.D.E

4. PAA A, C.E

J

Options :

68634077145. 1
68634077146. 2
68634077147. 3
68634077148. 4



Question Number : 88 Question Id : 68634019531 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following are traditional philosophies.

A, Idealism

B. Aesthetics

C. Pragmatism
D. Axiology

E. Existentialism

Choose the correct answer from the option given below :
1. A. C. D only
2.A.B.Conly
3.A.D.E only

4. A. C.E only

Options :

68634077149. 1
68634077150. 2
68634077151. 3
68634077152. 4

Question Number : 88 Question Id : 68634019531 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

=, o

FEfefad § 9 o1 9 WORATd SR o

A. 3TERiarg

B. Tiet fovas (twafe®)
C. FdeRdlg

D. HegHHEI (Uesiigiis)
E.

=i feu e Al # ¥ Tel ST &1 994 Bivie:
1.9dd A, C.D
2. $dU A, B.C
3. HdU A, D. E
4. AT A, C.E

Options :
68634077149. 1
68634077150. 2



68634077151.3
68634077152. 4

Question Number : 89 Question Id : 68634019532 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arousal. Stress and Anxiety can be explained through the following theories.

A. Inverted U hypothesis

B. Zone of Optimal Functioning (ZOF)
C. Catastrophy Model

D. Humanistic Approach

Choose the most appropriate answer from the options given below :
1. A.B and D only
2. A.Band C only
3.A.CandD only

4. B, C and D only

Options :

68634077153. 1
68634077154. 2
68634077155. 3
68634077156. 4

Question Number : 89 Question Id : 68634019532 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fefalaa Rigral & gRI a-1d & a1 &t S &1 aara &1 off T&dl 6-
A.$-4cS U greuidiRge
B. Sl[H 3% HPHA BB
C. FEE®l Hled
D. §gH® U
i feu U fas el § ¥ 998 Iugad Ik &1 IH1d HIIU:

1. 9dd A.BdD
2. $adA.BdC
3.Pa0A. CTD
4.9au B, CdD

Options :
68634077153. 1



68634077154. 2
68634077155.3
68634077156. 4

Question Number : 90 Question Id : 68634019533 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following are not the Bio-chemical changes in the muscles due to hypertrophy?

A. Amount of Myoglobin and glycogen mereases
B. Oxidation of Carbohydrates and Fats increases
C. Amount of connective tissues mcreases

D. Capillary density per fiber also increases

Choose the most appropriate answer from the options given below :

1.C & D only
2. A& Donly
3.B & Conly
4. A &B only

Options :

68634077157. 1

68634077158. 2

68634077159. 3
68634077160. 4

Question Number : 90 Question Id : 68634019533 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U=fig sifdafE & PR F=Ed & 3 oF 3 Sda-a-e agae AeuREl § 781 81 -
A. TR e g Tergiele- & 5 H gig
B. Plalglsgcy d ¥ & MU 1 gig
C. Yl S| I O © dgiak
D. Wi IR HiRepT ue § Fglar!

e fau U fae el & 9 9et 3R &1 99 DIy
1. Pad CcdD
2. PAIATD
3.HGABAC

4. PATAAB

Options :




68634077157. 1
68634077158. 2
68634077159. 3
68634077160. 4

Question Number : 91 Question Id : 68634019534 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following statements are correct with regard to daily energy requirements?

A. Proteins are major source of energy

B. For every kg. of body weight 1.3 calories of energy is required every 24 hrs.
C. 25% of fat 1s required in the diet.

D. Approximately 60% of energy shall come from carbohydrate

E. The consumption of excess fat, prior to exercise increase the performance.

Choose the correct answer from the options given below :
1. A& B only
2.B & Donly
3.C & E only
4. A& E only

Options :

68634077161. 1
68634077162. 2
68634077163. 3
68634077164. 4

Question Number : 91 Question Id : 68634019534 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



ufafea St @t snavgsdl & deH § o1 4 $U Jal o-

A WIEH ol &1 ygd 9id §

B. U@ 24 U0¢ § RIS YR & S [Hal IH &I 1.3 FAR! ol &I Sagad gl ol
C. 3MER & 25% TUI DI I Hdl sl &

D. WY 60% Sull Blaiegecy I [Had g

E. SO 9 U8 A% 991 &1 Ja- et &l el g

=i feu e Al # ¥ Tel ST &1 994 Bivie:
1.$dIATB
2. $ddBdD
3. PdACTE

4. HAAATE only

Options :

68634077161. 1
68634077162. 2
68634077163. 3
68634077164. 4

Question Number : 92 Question Id : 68634019535 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which of the statement 1s NOT true regarding sports training?

. Sports training is performance oriented

. Sports training 1s uncontrolled process

. Sports training is to develop the capacities and capabilities of sport person
. Sports training shall be identical for all individuals

. Tramning effect will reserve itself if there 1s no continuity

(g5 e R Wil v o [~

Choose the correct answer from the options given below :

1. A& Conly

[

.B & D only
3.C & E only
4. A&E only

Options :

68634077165. 1
68634077166. 2
68634077167. 3
68634077168. 4



Question Number : 92 Question Id : 68634019535 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

| Ui & oW # 9 1 § B 91 YA I T8l 6-

A. Ed UiRI&0T 4E2H S=IEl grar g

B. o uf¥remnn ufeean eifdfad gidt 21

C. 9d ufdrem ot faars! &1 aradn 9 eaar &1 fosiid s g,
D. Wa-Hierenr gyt aafeadi o feiw 99= g

E. URI&701 & UuTa ifHd 81 od § afe FRaar T il

=,

i feu U famedl © 9 T8l 3R &1 99 DI
1. HAdAdC
2.$PaaBAD
3.Pada CTE
4. PaAATE

Options :

68634077165. 1
68634077166. 2
68634077167. 3
68634077168. 4

Question Number : 93 Question Id : 68634019536 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In decathlon, which of the following events are performed in day I

A. Discus throw
B. Long Jump
C. Javelin throw
D. High jump

E. Pole vault

Choose the correct answer from the options given below :

1. A. B only

| )

. C,E only
3.B.D only
4. A. C only
Options :

68634077169. 1
68634077170. 2



68634077171.3
68634077172. 4

Question Number : 93 Question Id : 68634019536 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Sohyel H FEfeRad & 4 o1 A ufadifiar yus 137 $1 ot &-

A fempa Ul
B. Wl §g
C. Siafer i
D. $dl &g
E. id dlec

=i feu e Al # ¥ Tel ST &1 994 Bivie:
1.$dIATB
2. $dUCTE
3.%dd BAD
4. PAYATC

Options :

68634077169. 1
68634077170. 2
68634077171. 3
68634077172. 4

Question Number : 94 Question Id : 68634019537 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LIST I1
NEMEAN GAMES | 1. JOLIVE LEAVES WREATH|
PYTHIAN GAMES | II. |PINE LEAVES WREATH
OLYMPIC GAMES |1 BAY LEAVES WREATH
[STHMIAN GAMES| IV. [WILD CELERY WREATH

R

Choose the correct answer from the options given below:

1. A-IV, B-II, C-1, D-ITI

-2

CA-IV, B-IIIL C-I. D-II

Lad

CA-IIL B-IIL C-I, D-IV

4. AL B-II. C-1, D-IV



Options :

68634077173. 1
68634077174. 2
68634077175. 3
68634077176. 4

Question Number : 94 Question Id : 68634019537 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Tl 151 gt 11 ¥ gt

bulll il
A da | 1 [oldd & ol &1 Amen
T Ed | I [GaaR & Ui S Amd]

Sc® ©d | 111 [§ & o=t &t |9rar
et Wa | 1v. [Sed udl & Jren

1= f3u U fam el § 9 Hgl SR @1 99 DI

1. A-IV. B-II. C-1. D-ITI

PR EE

-

CA-IV, B-IIIL C-1. D-II
3. A-II. B-1IIL C-I. D-IV
4. A-I11, B-1I. C-I, D-IV

Options :

68634077173. 1
68634077174. 2
68634077175. 3
68634077176. 4

Question Number : 95 Question Id : 68634019538 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

LISTI LISTII
A |Realism I. [Experience
B. [Pragmatizsm II. [Self direction
C. [[dealism I1I. |Scientific Evidence
D. [Naturalism IV, |Values & Ideals

Choose the correct answer from the options given below:

1. A-I. B-1I., C-IV, D-ITI

2

CA-ILL B-IL C-IIL D-IV
3. A-II1, B-1. C-IV. D-II
4. A-I. B-IV, C-III, D-II

Options :

68634077177. 1
68634077178. 2
68634077179. 3
68634077180. 4

Question Number : 95 Question Id : 68634019538 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

il 101 Tl 11§ fiar iy
Gelb! T 11
A [guarg L |orra
B. [@dgRale | I [d-eriee
c lomeziae | [qwfe gam
D. [Uidar IV. [ 3R e

AR fa®edl § I 98l 3o’ &1 99 Dol :

1. A-I, B-IL. C-IV. D-III

| =]

AL B-1. C-I1, D-IV
3. A-IIT, B-1. C-IV. D-IT
4. A-I. B-IV, C-III. D-IT

Options :

68634077177. 1
68634077178. 2
68634077179. 3
68634077180. 4



Question Number : 96 Question Id : 68634019539 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
Melancholic Personality] I |[Extrovert - Neurotic
Sanguine Personality II. [Extrovert - Stable
Choleric Personality [T |Introvert - Stable
Phlegmatic Personality | IV, |[Introvert - Neurotic

ofofw[=

Choose the correct answer from the options given below:

1. A-IV, B-I11. C-1. D-II

-2

AL B-ILL C-IL, D-IV
3. A-III, B-IV. C-1. D-II
4. A-IV, B-II. C-I, D-III

Options :

68634077181. 1
68634077182. 2
68634077183. 3
68634077184. 4

Question Number : 96 Question Id : 68634019539 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

il 161 1 11 9 fiar iy

A1 T 11
Go iddd | [ [efeqd fafd
HIRITETG! Afdded] L [sfeadl FRR
Fersterst safaaa | 1 [efdae faR
O Afgdd | IV [sanw fafam

AR fa®edl § I 98l 3o’ &1 99 Dol :

1. A-IV. B-III. C-I1. D-II

ofofw[=

| o]

AL B-ILL C-1L, D-IV
3. A-IIT, B-IV. C-1. D-IT
4. A-IV, B-II. C-I. D-III

Options :

68634077181. 1

68634077182. 2
68634077183.3



68634077184. 4

Question Number : 97 Question Id : 68634019540 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
. |Short Bone I. |[Vertebrae
Flat Bone II. |Patella

Sesamoid Bone| 11 [Carpals
. |lrregular Bone | IV. [Pelvis

o] Fo] o] g

Choose the correct answer from the options given below:

1. A-IIIL. B-IV. C-II. D-1

| B

. A-IIL B-IV, C-III. D-I
3. A-IIT, B-II. C-IV. D-I
4. A-I1, B-III, C-IV. D-I

Options :

68634077185. 1
68634077186. 2
68634077187. 3
68634077188. 4

Question Number : 97 Question Id : 68634019540 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

I 11 g 11 ¥ e Sife

Tqa I T I
BEEIG) 1 [HEaus
EEEEIR] II. [OcdT (g2 Bl 31TeY)
OEES A 11 [FRUE (s B HRY)
Hiar R | v [oferg @ @1 oY)

TR fa®edl § I T8l 9wk 1 99 Do ;

1. A-IIL, B-IV. C-II. D-1

ofo[w]s

| o]

. A-ITL B-IV, C-TI1. D-I
3. A-II1, B-II. C-IV, D-I
4. A-II. B-III. C-IV. D-I

Options :
68634077185. 1



68634077186. 2
68634077187. 3
68634077188. 4

Question Number : 98 Question Id : 68634019541 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTIT
. |Flexion 1. |Kicking the Ball
[Extension II. |Curling up by Dumbbell

Abduction I11. [Leg Splitting
. |Circumduction | IV. [Bowling in Cricket

o] Fo] Ioe] =g

Choose the correct answer from the options given below:

1.

| B

5]

4.

AL B-1I1, C-1, D-IV

.A-IIL B-1, C-III, D-IV

AL B-IL, C-II1, D-IV

A-TV, B-111, C-II. D-1

Options :

68634077189. 1
68634077190. 2
68634077191. 3
68634077192. 4

Question Number : 98 Question Id : 68634019541 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

el 1 1 gl 11 9 fia oify

g1 Tt 1o
A [sfipad 1. [€1c @I dld ARAl
B. [[G%Rm II. [E9d Bl SR I&H]
C. [smada I11. [0R1 @1 el
D. [gbreama |1V [fhdhe H iigars

TR fa®edl § I T8l 9wk 1 99 Do ;

1. A-IL. B-I11. C-I. D-IV

-

. A-IL B-1, C-III, D-IV

3. A-L. B-II, C-1II, D-IV

4. A-IV. B-III. C-II. D-I



Options :

68634077189. 1
68634077190. 2
68634077191. 3
68634077192. 4

Question Number : 99 Question Id : 68634019542 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LIST1I LISTII
. |Analytical Research I |Ethnographic Studies
Qualitative Research | II. [Philosophical Studies
Descriptive Research | 111 [Cause and Effect Relationship
. [Experimental Research| IV, [Normative Surveys

o] fo] [o=] =g

Choose the correct answer from the options given below:

1. A-IL. B-III, C-IV, D-1

| B

. A-ITL B-1, C-IV. D-IIT
3. A-IL. B-IV, C-I. D-III
4. A-IV, B-11, C-III. D-I

Options :

68634077193. 1
68634077194. 2
68634077195. 3
68634077196. 4

Question Number : 99 Question Id : 68634019542 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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B. [TUTd® ATHUH 1. [GRHRIE e
C. [auHrE® gy | 11 | SR 3R nyE 4 99l
D. [airmd® ggyH | 1V [Fame waam

FERad [dmedl § 9 Tl 3= &1 9494 DIl ;
1. A-IL, B-TIL, C-IV, D-I
2. A-IL, B-1, C-IV, D-III
3. A-IL. B-IV, C-L. D-III
4. A-IV, B-II, C-IIL, D-T
Options :
68634077193. 1
68634077194. 2

68634077195. 3
68634077196. 4

Question Number : 100 Question Id : 68634019543 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
A e Donald skill test I. |Cardio vascular fitness
B. [Helman test battery II. Motor fitness
C. |Queen college step test] [I1. [Volley Ball
D. [ICE. test battery IV. |Soccer

Choose the correct answer from the options given below:

1. A-IT. B-III, C-I. D-IV
2. A-IV. B-1. C-I1. D-III
3. ATV, B-1II. C-1. D-II
4. A-1. B-IV, C-III. D-IT

Options :

68634077197. 1

68634077198. 2

68634077199. 3
68634077200. 4



Question Number : 100 Question Id : 68634019543 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

il 101 Tl 11§ fiar iy
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. [AwsHIcs DrEa wigy] 1 [gegdries gy
ReH ORI&0 623 1L [T gy
G4 diciel &U G [ 1. [@iefiaia
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AEfafad [deedl § U Ut 3R &1 997 SHifor :

1. A-IL. B-III, C-I. D-IV
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2. A-IV, B-1, C-II. D-III
3. A-IV. B-1II. C-1. D-IT
4. A-I. B-IV, C-III. D-IT

Options :

68634077197. 1
68634077198. 2
68634077199. 3
68634077200. 4



